CHM152 Quiz 4 25 Pts Fall2006 Name: I%

1. (4 Pts) Label the acid, base, conjugate acid and conjugate base in each of the following.

a. HClO4nq + HzO(l) 2> H;0" @agp C104(aq)
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b. H3PO4(aq) + KOH(aq) e 4 KH2P04(aq) + HzO(l)
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2. (4 Pts) Circle all of the Strong acids below.
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3. (6 Pts) Complete the following table:

Acid or base pH pOH [OH]] [H;07]
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4. (6 Pts) Determine the pH and the pOH of the solution that results in the reaction of 30.0 mL of 0.145 M HCI
with 25.0 mL of 0.095 M Ba(OH),.
D.HOL + Bea(oh), —> M0 + Ball,
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5. (4 Pts) Complete and balance each of the following reactions (assume complete neutrahzatlon).

a. 2 NaOHyq + HSOue > L 11 O t  Nay 504
b. 2 H3AsOunq -+ 3 Ba(OH)zaq =2 gﬁl‘/) + 8“? (ﬁs O‘/) o3

6. (1 Pt) Supply a definition of an acid.



